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QUESTION 1

A network security administrator wants to monitor traffic on several VLANs configured on a vSphere Distributed Switch.
The traffic will be sent to another distributed port. 

What type of port mirroring session must be configured to meet these requirements? 

A. Select the session type Distributed Port Mirroring when configuring the Port Mirroring session. 

B. Select the session type Remote Mirroring Source when configuring the Port Mirroring session. 

C. Select the session type Remote Mirroring Destination when configuring the Port Mirroring session. 

D. Select the session type Distributed Port Mirroring (legacy) when configuring the Port Mirroring session. 

Correct Answer: C 

 

QUESTION 2

Which statement is true regarding deploying NSX over a physical network? 

A. OSPF can be used for Management traffic in a Layer 3 fabric design. 

B. NSX can implement IPv6 on an IPv4 physical network. 

C. Routing is supported on bridged interfaces. 

D. VLANs are not required to separate traffic between virtual machines. 

Correct Answer: B 

 

QUESTION 3

What is the most restrictive NSX role that can be used to create and publish security policies and install virtual
appliances? 

A. Security Administrator 

B. NSX Administrator 

C. Auditor 

D. Enterprise Administrator 

Correct Answer: D 

 

QUESTION 4

An administrator configures the IPSec VPN service on an NSX Edge instance, but the negotiation fails. 
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Examining the log file, the administrator notices the following message. 

INVALID_ID_INFORMATION 

Which misconfiguration caused the error? 

A. Pre-shared key (PSK) does not match. 

B. Diffie-Hellman (DH) Group does not match. 

C. Perfect Forward Secrecy (PFS) does not match. 

D. VPN tunnel address is incorrect. 

Correct Answer: A 

 

QUESTION 5

Which component automates the consumption of third-party services and provides mapping to virtual machines using a
logical policy? 

A. NSX Manager 

B. Cloud Management Platform (CMP) 

C. Service Composer 

D. NSX Data Security 

Correct Answer: C 
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